-I B 7% DL X4% |
PASS DEFENDED
(EXARIELT)
Bz |Zmvy| KRER | S EF4 24 | POS I8
1 B FBERA 5 |Ry Sullivan 4 S 3
2] B EBK 27 Rl £EEk 4 CB 6
3| B BEA | 26 [&2F X 2 DB 5
41 A BiEH 11 [K B a DB 4
41 A | BEREX 4 (w1l B 4 | DB 4
4] A EESN 17 |2l EA 3 |bB/K 4
4] A PEX | 32 [[BEH B4 2 DB 4
4] B EBRAK | 34 @B —F 4 SF 4
41 B LEPN 19 |E% 5hAKER 3 DB 4
41 B kX | 76 [EKA 4 DL 4
4] B DEZPN 11 |&EF B8 2 DB 4
12] A BAX | 38 [&A B& 2 DB 3
12] A BiiHE 8 |HH = 2 LB 3
12] A BiEHE 32 |IRF BXK 1 DB 3
12] A BEX 7 | AH =E 4 DB 3
12] A E PN 2 &5 RIE 3 DB 3
12] A 2= 8 |IWWH Eih 4 DB 3
12] B SEPN 19 [#%F 4N 4 DB 3
12] B BEPN 1 [ZEWR fFE 3 LB 3
12] B hfX [ 32 |KKX B 1 DB 3
12] B FRX [ 47 [RK ¥ 1 LB 3
12] B FEA | 21 [FHEHE A% 4 S 3
12] B PN 3 [WI BE 2 |wr LB 3
24| A HAX 4 |[#EE 5= 4 DB 2
24| A BAX YES SRS 2 DB 2
241 A BAX 28 Bl =& 1 DB 2
24| A BAX [ 37 [MA X&E 3 DB 2
24| A BEiEHE 9 [RAR H 3 DB 2
24| A BiiHE — |2EA & 1 — 2
24| A BEX 16 |AE KiE 2 DB 2
24| A BrEX | 27 [#h =T 4 DB 2
24| A —5 29 |ERE & 3 DB 2
24| A H2EAX | 27 [FlIl &M% 3 DB 2
24| A HEX | 28 |[XK@E & 1 DB 2
241 A Pk | 21 [{EE HEN 4 | WR 2
24| A FEX | 27 hEL BEE 3 DB 2
24| A BEAK | 24 /WM EF 4 DB 2
24| A BEX | 29 [&#F & 3 DB 2
24| A B X | 91 |[=EBE ®ah 4 DL 2
24| B EBK 2 |fEE T+ 4 SF 2
24| B EBK | 49 | EER 4 CB 2
24| B BAX 3 |AE EA 4 DB 2
24| B BRA 10 [FFE EX 4 LB 2
24| B BaA | 24 [[BEK TARER 3 DB 2
24 B HEX 8 |&#H Bi= 4 LB 2
24| B BEX | 44 [k Bif 3 LB 2
24| B I%Elijt 37 |BA¥Y EEAER 4 DB 2
24| B B K | 54 |EB 54 2 DL 2
24| B g K | 59 [l XK— 3 |oL DL 2
24| B CaE PN 7 [F BER 4 DB 2
24| B hRk [ 21 [BFE & 1 DB 2
24| B HEREA 8 |#O #d 4 LB 2
24| B =mAK | 23 |HE —# 2 DB 2
24| B EER | 24 [FEE FH 4  [wr DB 2
55 A BHAX 2 ||l K 3 DB 1
55 A EEPS 8 |[EE B 4 LB 1
55 A EEPS 15 |#HKX &% 1 DB 1
55| A BAX 22 |&F $E1ﬂ 4 | WR 1
55| A BAX [ 31 /MR *= 4 LB 1
55 A HAXXKX [ 33 |®E %‘?E* 1 DB 1
55| A HAX | 47 |E&E ;= 4 LB 1
5] A BAKX 56 |WNA = 1 LB 1
55| A HAX 91 |#EX #— 2 DL 1
55| A BHAX | 97 &% &3 1 LB 1




55| A BiiHE 19 |RfT BX 3 LB 1
55| A BiEH 91 |HE BX 4 DL 1
55| A BEHEH | 99 [Scott Duffy 2 | DL 1
55| A BEX 13 | ErE 2 DB 1
55| A EEX | 20 |58 & 3 DB 1
55| A BEX | 53 |H& g 4 LB 1
55| A BEKX | 74 | XE BEA 1 LB 1
55 A EEX | 93 [EE K& 4 DL 1
55| A PN 10 |[EH #th 3 DB 1
55| A —15 14 |[EFH 2F 3 LB 1
55 A —i8 32 |Ed R 4 |DB/P 1
55 A —&X | 39 |HE E#H 1 LB 1
55| A —15 44 RN EE 2 DL 1
55| A —iE 46 |BRE) B 1 LB 1
55 A —EX | 56 | KE kK#% 4 LB 1
55| A BEX 5 |BE = 4 LB 1
55 A BEX 13 |Z& IE# 2 DB 1
55 A BEX 15 |FIL EB8 4 LB 1
55| A HEX | 34 [FA £4# 2 DB 1
55| A BHEX | 42 ﬁ*rs E¢d 2 LB 1
55| A HEX | 52 [K&t A2 3 LB 1
5| B BHEX | 52 [K# A# 3 LB 1
55| A HEKX | 56 |[FA X 4 DL 1
5 A HEK 1 En& 1%7] 4 |WR/K 1
55| A E PN 3 | =& Eah 2 DB 1
55| A E PN 5 [EA HE 4 oL bl 1
55 A mmkAk | 25 |[EH =H 2 DB 1
55 A mmk | 26 |=H EF 4 LB 1
55 A TEX | 29 [EX BE 1 — 1
55| A BEREA | 37 %% BE 4 LB 1
55 A FEX | 43 [Fih s$E=B 1 LB 1
55 A FEX | 55 [HE SX 1 L 1
55 A HEX 6 |FEIl ET 4 DB 1
55 A HEX 14 [£EE EA 2 DB 1
55| A mEX | 23 [BX 58 4 DB 1
5| A A | 94 |[JEO BL 3 DL 1
5| A BEKX | 99 [ERI)I & 3 DL 1
55| B ERCK | 37 1B BEX 3 CB 1
55| B EHX | 54 [EE th= 2 LB 1
55| B EHBAK | 93 [#H EE 1 DE 1
55| B BHA R 8 |RH mAmX 1 LB 1
55| B BHA R 17 |RE £F 3 DB 1
55| B BHAB 20 [hST7F EKER 3 LB 1
55| B BHAB 44 |[HHE #BA 3 DE 1
55| B BAX 2 £ X 4 DB 1
55| B H#&X 17 |28 Z 4 DB 1
55| B B&KX | 59 |[HE #HE 3 DL 1
55| B FSEPN 2 |#E H 4 DB 1
5| B (SEPN 9 |[FkEy 1BF 4 LB 1
55| B B KX | 52 [FA BA 4 DL 1
5| B CaEPN 14 i‘q*éu.l fin 1 LB 1
55| B R KX [ 33 |&FH FZ8 2 RB 1
55| B hfX [ 45 IJ.IJII N 4 LB 1
55| B hRX [ 99 |XE N 2 LB 1
5| B FERA 3 |K#nHE =HE 4 | DB 1
5| B HEREA 4 |in3EE BE4v 3 CB 1
55| B HEREA 15 | K Eth 4 S 1
55| B FERA | 43 |FHh =X 4 LB 1
55| B IHK 23 |B#& 3 DB 1
55| B uHAk | 44 [EH BX 2 DL 1
55| B DEZPN 53 |=t K& 3 LB 1
55| B %X | 55 [& ]”E 1 oL 1
5| B PN 2 [&=EBII EEARER 1 [wr-DB 1
55 B [TEPN 21 @&l EE 3 [wr- DB 1
5] B EEXR 29 |FE B2 4 |re. DB 1
55 B EiEXR 31 M &E# 4 [wr-DB 1
55| B EiEX | 71 [EAR IG# 1 |oL DL 1




